Parts Information

- Parts list -

Vehicle WDDLJ7EB3DA079389 (D33) Mercedes-AMG CLS 63 Coupe
Color 799 - Diamond white - metallic finish Equipment 805 -
FIN: WDD2183741A079389 Assortment class PC
Group 20 ENGINE COOLING Sub-group 140 TURBOCHARGER WATER
CIRCUIT
Image ID: drawing_B20140000002
Item Part number Designation/additional information Qty
10 A 278 200 00 51 COOLANT LINE 1
Left feed line
Replaced by: A 278 200 03 00
Replaced by: A 278 200 09 00
10 A 278 200 03 00 COOLANT LINE 1
Left feed line
Replaced by: A 278 200 09 00
Replaces: A 278 200 00 51
10 A 278 200 09 00 COOLANT LINE 1
& Left feed line
Replaces: A 278 200 03 00
Replaces: A 278 200 00 51
20 A 023997 44 45 * O-RING 4
53 11.2X2
30 N 910143 006001 HEXALOBULAR BOLT 4
Coolant line mount; M6X16
40 A 0009957975 SPACER 2
100 A 000 995 20 32 CLAMP 1

Coolant hose mount

© Copyright 2022 Mercedes-Benz AG



Parts Information

Item Part number Designation/additional information Qty
110 A 278 236 03 40 BRACKET 1
Coolant line
120 N 910143 006000 HEXALOBULAR BOLT 1
Holder to turbocharger; M6X12
130 A 278 200 17 51 COOLANT LINE 1
Left return line
Replaced by: A 278 200 02 00
130 A 278 200 02 00 COOLANT LINE 1
Left return line
Replaces: A 278 200 17 51
140 A 023 997 44 45 * O-RING 2
o) 11.2X2
150 A 278 200 09 51 COOLANT LINE 1
Right feed line
Replaced by: A 278 200 10 51
Replaced by: A 278 200 19 51
Replaced by: A 278 200 07 00
Replaced by: A 278 200 08 00
150 A 278 200 10 51 COOLANT LINE 1
Right feed line
Replaced by: A 278 200 19 51
Replaced by: A 278 200 07 00
Replaced by: A 278 200 08 00
Replaces: A 278 200 09 51
150 A 278 200 19 51 COOLANT LINE 1
Right feed line
Replaced by: A 278 200 07 00
Replaced by: A 278 200 08 00
Replaces: A 278 200 10 51
Replaces: A 278 200 09 51
150 A 278 200 07 00 COOLANT LINE 1
Right feed line
Replaced by: A 278 200 08 00
Replaces: A 278 200 19 51
Replaces: A 278 200 10 51
Replaces: A 278 200 09 51
150 A 278 200 08 00 COOLANT LINE 1
Right feed line
Replaces: A 278 200 07 00
Replaces: A 278 200 19 51
Replaces: A 278 200 10 51
Replaces: A 278 200 09 51
160 A 023997 44 45 * O-RING 4
® 11.2X2
170 N 910143 006001 HEXALOBULAR BOLT 1
Line to water pump; M6X16
170 N 910143 006001 HEXALOBULAR BOLT 1
Water line to turbocharger; M6X16
180 A 000997 92 44 SPACER RING 1
Water line to turbocharger
200 A 278 200 18 51 COOLANT LINE 1
) Right return line
200 A 278 200 32 51 COOLANT LINE 1
e Right return line
200 A 278 200 31 51 COOLANT LINE 1
o Right return line

© Copyright 2022 Mercedes-Benz AG



Parts Information

Item Part number Designation/additional information Qty
210 A 023997 44 45 * O-RING 4
o) 11.2X2
250 A 157 200 00 51 COOLANT LINE 1
[y From water pump to coolant line
Replaced by: A 157 200 01 51
250 A 157 200 01 51 COOLANT LINE 1
From water pump to coolant line
Replaces: A 157 200 00 51
255 A 112 990 09 01 * SCREW 1
53 To coolant line
260 A 023 997 44 45 * O-RING 2
& 11.2X2
270 N 910143 006006 HEXALOBULAR BOLT 1
Coolant line mount; M6X40
ﬁ Code: -(F217 /F222);
270 N 000000 001101 HEXALOBULAR BOLT 2
Coolant line to water pump

© Copyright 2022 Mercedes-Benz AG



